Subject: Re: Reproductive calendar
Posted by Trevor-DHS on Mon, 17 Aug 2015 14:59:51 GMT
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The calendar (vcal_1) is set up as a string of 80 characters, with the 80th character representing
the start point of the calendar, which, in the case of Uganda DHS 2011, is January 2006. VO17
tells you the century month code for the start of the calendar (1273=January 2006). Position 1 in
the calendar in this case would then be 79 months later, which would be August 2012, however,
this is beyond the date of interview. Any months beyond the date of interview are left blank. If the
interview, for example, took place in November 2011, then the information in the calendar would
start in position 10, and positions 1-9 (corresponding to August 2012 back to December 2011)
would all be blank. V018 tells you the position of the month of interview, and for an interview in
November 2011 would be position 11.

You say that the first 11 positions have no record/event, but that is only the case for an interview
taking place in September 2011. The Interviews took place between June 2011 and December
2011, so the number of blanks on the beginning of the record will differ, depending on the month
of interview.

IMPORTANT NOTE: For some surveys, the calendar data are misaligned in the Stata data files.
In those surveys affected, the calendar data are all trimmed so that they are left aligned. This only
affects the Stata versions of the datasets, and does not affect all surveys (only a subset). | have
written code to correct the misalignment, which | am attaching here. You will find a foreach
statement in the code that lists the datasets affected (that | know of to date). There is a quick
check to see if your dataset is affected:

gen v = substr(vcal_1,1,1)

tab v

If the calendar is correctly aligned, v will be mostly blank - in fact in the vast majority of surveys it
will be all blank.

If v is not blank for most/all cases, then the calendar is misaligned. To correct the alignment, you
can use the code attached.

I'm also attaching code | use for reshaping the calendar, which you can adapt for your own needs.
Make sure you run the realign code first, though, before the reshape code, if the survey needs it
[Uganda DHS 2011 is fine and does not need realigning - see the foreach for the datasets that |
know do need realigning].

File Attachnents

1) Realign vars.do, downl oaded 943 tines
2) Reshape vcal _1 to nonths.do, downl oaded 1135 tines
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